n 0.05
2 H H H H H H
B.045f ot
S 5 5 5 5 5 5
%)0.04— """" Freeeeee  ERRRAREARECE) i RESLIREEERLEE AR oo
g= : : : : 5 :
oasf ol
oo 1AL L
% 5 . 5 2 5
@-025—--------;-*}- ----- e e o
goozg b

(&] E . . . . . H

RTINS NS o SN et e

S N R
0.01 oo R A e P

0.005

Ratio
=
T T 7T T !

100 120 140
Pileup

0.95

—=— DQM_original_stepZ_tibar-phaseI-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

o
N
o
o
o
©
o

0 0.05 ; ; U7 U g
Q@ : : : Q
D045 e + ------- i £0.09
[ : : c
B0.04 i oo R %0.08
= ; - =
TR TR ! U : | DU -
-g).035 ; * 5007
= . . S R 0 S N 1 6 0 1 4 O S =
50.08 B 5006
.025 oo e it R R{H T §0.05

g 0.02f e """"""""" """ At “  RESEERIERCIED $0.04
0 C : : : ©
9,015 S — SR N 20.03
n 5 : : :

: : : v
0.01F+rreeeeee o R e fil s 0.02

0.005 e pooseaseeeeeeees o SR e 0.01
- L . . .
9 J-O-: 11 ||||||! L1111 |: |_‘| L1l [N 9 le@
IS - : : =
O 1.0Speeeereeeeee P L x 1
C : LT
| SR J,| 3| S 0.95
C i# .#ar - AEE S
0.95F = il A¥ 09

'_\
(@]
AN
[N
=
(@]
'_\
o
N
_|
—~
o
D
=
w
|



	Contents
	Page 1


